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/ LE CHATELIER’S PRINCIPLE Name

'y Le Chateller's Principle states that when a system at equilibrium Is subjected to a stress, the
—— system will shift its equilibrium point in order to relieve the stress.

- Complete the following chart by writing left, right or none for equilibrium shift, ond
decreases, increases or remains the same for the concentrations of reactants and
products, and for the value of K.

N,(@) + 3H,(g) < 2NH(g) + (2;{6‘1\<ggl

Equilibrium
Stress Shift N, H,] [NH,) K
remains the
1. AddN, right C— decreases increases same
2. AddH, —_— é\
3. AddNH, —_—
f 4. Remove N, —_
|
‘ 5. Remove H, —_—
6. Remove NH, -
i 7. Increcse B -
f Temperature
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| 8. Decrease
I Temperature
9. Increcse
Pressure
10. Decrecse
Pressure
Chemistry IF8766 81 @instructional Falr, inc.

v o KRN




=

‘ \/\J\\éc'\' WAS

e “ov ‘Shress”

o Chamical
(Xn?

) V\)\!\CC\‘ S
Dattons Laww
O‘(; Pad ‘hc‘u\

Pressures *
B e i

cHae rxn il Shid s equilibnun et

1o rebalance T {+
C OCi, (g) = Co(g) + Clz (g) ™ I0keal
= Wil s

—i we Shess o \oy ”

T Lcoci. ] Vight
T LcoT le£+
% ECOC\Lj ledt+
4 otenwnp right
T pressure le 4+ ™
L Cev, ] gt

> w"f\u\ Fressure. 1S Aneveas ed e e
will shdftr Sswavd less pressure. <
s\de wi less woles of gas

« e pressue o o W hvre. of lub S
éqo&k e son of e pressues ot all
D Y 3a>e> Yot make 1+ uE

- [PTO\-a,\ = P+ P Pt Z

cext The aXmosplheic pressore @ Tle amw&afw\(\cc\-
is the (\Daﬁ\c«}\ eressuyec-@ N, i€ i+ ol
op 1%/ oo one ¢

PN»z: Te2 < JI8 = gqqmmrb




